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gFjp II 

mwpTWj;jy; : cg gpupT 'm"> 'M" Mfpatw;wpypUe;J Fiwe;jgl;rk; ,uz;L 
tpdhf;fisNaDk; njupT nra;J vy;yhkhf ehd;F tpdhf;fSf;F 
kl;Lk; tpil vOJf. 

cggFjp - ‘m’ 

(,g;gpuptpypUe;J Fiwe;jgl;rk; ,uz;L tpdhf;fis njupT nra;f) 
 

01)    
(i). mikar;nryT vd;gjpypUe;J ePu; tpsq;fpf; nfhs;tJ ahJ? cw;gj;jpapy; 

mikar;nryT G+r;rpakhff; fhzg;gLk; re;ju;g;gq;fisAk; Fwpg;gpLf? 
(04 Gs;spfs;) 

(ii). tsq;fspd; tpisjpwd; vd;why; vd;d? xU ehL jd;dplKs;s 
tsq;fspd; tpisjpwid mjpfupg;gjw;F Nkw;nfhs;s Ntz;ba 
eltbf;iffs; ahit? 

(04 Gs;spfs;) 
(iii). re;ijg; nghUshjhuj;jpypUe;J fl;lisg; nghUshjhuk; vt;thW 

NtWgLfpd;wJ? 
(04 Gs;spfs;) 

(iv). re;ijg; nghUshjhuk; xd;wpd; ntw;wpf;F jdpahUupikAk; nrhj;Jupikg; 
ghJfhg;Gk; Vd; mtrpakhdjhf cs;sJ? 

(04 Gs;spfs;) 
(v). “xU r%fj;jpd; epfo;fhy Efu;tpd; jpahfj;jpd; mstpNyNa mr; 

r%fj;jpd; vjpu;fhy nghUshjhu tsu;r;rp tPjk; jq;fpapUf;Fk;” ,f; 
$w;wpd; eilKiwg; nghUj;jg;ghl;bid nghUj;jkhd tiuglq;fis 
gad;gLj;jp tpsf;Ff? 

(04 Gs;spfs;) 
02)    

(i). Nfs;tp tpjp  vd;why; vd;d? mt;tpjpf;F mbg;gilahfTs;s ,uz;L 
tplaq;fisAk; Fwpg;gpl;L mtw;iw tpsf;Ff? 

(04 Gs;spfs;) 
(ii). rhjhuzgz;lk;> ,opTg;gz;lk; kw;Wk; fpgd; gz;lk; Mfpatw;iw 

NtWgLj;Jf? 
(04 Gs;spfs;) 

(iii). ney;ypd; epuk;gy; mjpfupg;gpy; nry;thf;Fr; nrYj;Jk; fhuzpfisg; 
gl;bay;gLj;Jf? 

(04 Gs;spfs;) 
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(iv). Efu;Nthdpd; tUkhdk; 20%j;jhy; mjpfupj;j NghJ X, Y, Z gz;lq;fspd; 
Nfs;tp KiwNa 10%j;jhy; tPo;r;rpaile;jJ> 30%j;jhy; mjpfupj;J> 
15%j;jhy; mjpfupj;jJ vdf;fUJf? 
m) X,Y,Z gz;lq;fspd; tUkhd Nfs;tp nefpo;r;rpia fzpg;gpLf? 

(02 Gs;spfs;) 
M) X,Y,Z gz;lq;fspd; jd;ikia Fwpg;gpLf? 

(02 Gs;spfs;) 
(v) A vd;w gz;lj;jpd; Nfs;tp> epuk;gy; njhlu;ghd jfty;fs; gpd;tUkhW 

jug;gl;Ls;sJ.  

tpiy (P) &gh Nfs;tpj;njhif (Qd) 
(myFfs;) 

epuk;gy; njhif (Qs) 
(myFfs;) 

100 20 60 
50 40 30 

m) A gz;lj;jpw;Fupa Nfs;tp> epuk;gy; rhu;Gfis cUthf;fp rkepiy 
tpiy njhifia fhz;f? 

(02 Gs;spfs;) 
M) rkepiy tpiyapy; tpiyrhu; Nfs;tp nefpo;r;rp> Efu;Nthu; kpif 

Mfpatw;iw fzpg;gpLf? 
(02 Gs;spfs;) 

03)   
(i). X vd;w gz;lj;jpd; epuk;gy; rhu;G Qs = -200 + 5p vdj;jug;gl;Ls;sJ. X 

gz;lj;jpd; cw;gj;jpahsu; kPJ myFf;F &8 ,id tupahf tpjpg;gjhff; 
fUjp gpd;tUk; tpiyfspy; tupf;F gpd;Ds;s epuk;gy; njhifia gjpT 
nra;f? 
 

P 4 8 12 16 20 24 
Qs …… …… …… …… …… …… 

(03 Gs;spfs;) 
(ii). ,g;gz;lj;jpd; re;ijf;Nfs;tpr;rhu;G Qd = 600 - 5p vdj; jug;gLk; NghJ 

tupf;Fg; gpd;duhd  
m) rkepiy tpiy> njhif 
M) Efu;Nthd; kpif 
,) cw;gj;jpahsd; kpif  
   vd;gtw;iwf; fhz;f? 

(05 Gs;spfs;) 
(iii)  Y vd;w gz;lj;jpd; cw;gj;jpia Cf;Ftpg;gjw;fhf murhq;fk; 

mynfhd;Wf;F &.10 khdpakhf toq;Ftjhff; fUJf. myFf;Fupa 
khdpaj;jpd; KO mstpdhYk; Y gz;lj;jpd; rkepiy tpiy 
tPo;r;rpaile;jJ. ,j;jifa epyik vt;thW epfof;$Lk; vd;gjid 
tiuglq;fspd; Jiz nfhz;L tpsf;Ff? 

(04 Gs;spfs;) 
(iv) cr;r tpw;gid tpiy vd;why; vd;d? mjd; tpisTfisAk; RUf;fkhf 

tpsf;Ff? 
(04 Gs;spfs;) 



(v) murhq;fk; ney; cw;gj;jpahsu;fSf;F Mjuit toq;Fk; Nehf;fpy; 
cj;juthj tpiyia jPu;khdpj;J mt;tpiyapYs;s kpif epuk;giy jhNd 
nfhs;tdT nra;aj; jpl;lkpl;Ls;sJ. ,e;eltbf;ifapd; tpisTfis 
nghUj;jkhd tiuglj;jpd; %yk; tpsf;Ff? 

(04 Gs;spfs;) 

cggFjp - ‘M’ 

(,g;gpuptpypUe;J Fiwe;jgl;rk; ,uz;L tpdhf;fisj; njupT nra;f) 
 

04)    
(i). “Fiwe;J nry;Yk; tpisT tpjp” vd;gjid tiuaiw nra;J mt;tpjp 

vt;thW epWtdj;jpd; nryTfis ghjpf;Fk; vd;gjidAk; njspTgLj;Jf? 
(04 Gs;spfs;) 

(ii). vy;iyr;nryT> ruhrup nkhj;jr; nryT vd;gtw;Wf;fpilapyhd njhlu;Gfis 
tpsf;Ff? 

(04 Gs;spfs;) 
(iii). m) epiwNghl;br; re;ij  M) jdpAupikg; Nghl;br; re;ij Mfpatw;wpd; 

gpujhd gz;Gfis gl;bay;gLj;Jf? 
(04 Gs;spfs;) 

(iv). epiwNghl;b epWtdnkhd;W X vd;w gz;lj;jpid &gh 50 tpiyapy; 400 
myFfis tpw;gid nra;fpd;wJ. me;epWtdj;jpd; nkhj;jr; nryT 25000 
&ghthFk;. me;epWtdj;jpd; ntspaPL G+r;rpakhfTs;s NghJ nkhj;jr; nryT 
6000 &ghthFk; vdTk; fUJf. ,e;epWtdk; njhlu;e;Jk; X gz;lj;jpid 
epuk;gy; nra;a KbAkh? tpsf;Ff? 

(04 Gs;spfs;) 
(v). khw;wy; fl;lzk; vd;why; vd;d? xU fhuzp khw;wy; fl;lzj;ij kl;Lk; 

vg;NghJ jd; tUkhdkhff; nfhz;bUf;Fk;? 
(04 Gs;spfs;) 

05) 
(i) “tu;j;jf rflNthl;lk;” vd;gjid tiutpyf;fzg;gLj;jp mjpYs;s ehd;F 

fl;lq;fisAk; RUf;fkhf tpsf;Ff? 
(04 Gs;spfs;) 

(ii) Njrpa fzf;fPl;by; gad;gLj;jg;gLfpd;w mbg;gil tpiy> nfhs;tdthsu; tpiy 
Mfpatw;iw NtWgLj;Jf? 

(04 Gs;spfs;) 

(iii) gpd;tUk; tplaq;fs; xU ehl;bd; nkhj;j cs;ehl;L cw;gj;jpapy; 
cs;slf;fg;gLkh> ,y;iyah vd;gij tpsf;Ff? 

(m) Rw;Wyh N`hl;lnyhd;W ntspehnlhd;wpy; cw;gj;jp nra;ag;gl;l> 
nfhs;fydpy; milf;fg;gl;l &.10 kpy;ypad; ngWkjpahd czTg; 
gjhu;j;jq;fisf; nfhs;tdT nra;jy;.  

(M) KjyPl;lhsnuhUtu; gpujhd tzpf tq;fpnahd;wpy; &.30 kpy;ypad; 
ngWkjpahd gq;Ffisf; nfhs;tdT nra;jy;. 



(,) ,y;yj;jurp xUtu; elg;G tUlj;jpy; jdJ tPl;Lj; Njhl;lj;jpy; kuf;fwpfisg; 
gapupLfpwhu;. mWtil KOtJk; tPl;L Efu;Tf;fhfg; gad;gLj;jg;gLfpwJ.  

(<) Nkhl;lhu; thfd tpw;gidahsu; xUtu;> gad;gLj;jg;gl;l Nkhl;lhu; thfdk; 
xd;iw tpw;gjd; %yk; juFg; gzj;ijg; ngWfpwhu;.  

 (04 Gs;spfs;) 
(iv) gpd;tUtJ fUJNfhs; uPjpahd nghUshjhunkhd;wpw;fhd Ngupdg; nghUspaw; 

juTfspd; gl;bayhFk;.  

tif ngWkjp 
(gpy;ypad; &ghapy;) 

jdpahu; Efu;T 70>000 
murhq;f nfhs;tdTfs;  20>000 
nkhj;j cs;ehl;L epiyahd %yjdthf;fk; 21>000 
,Ug;Gfspyhd khw;wk; 3>000 
Vw;Wkjpfs; 24>000 
,wf;Fkjpfs; 30>000 
Njwpa ntspehl;bypUe;jhd Kjd;ik tUkhdk;  - 4>000 
Njwpa ntspehl;bypUe;jhd jdpahu;> mur 
khw;wy;fs; 5>000 

 
gpd;tUtdtw;iwf; fzpg;gpLf. 

m. re;ij tpiyfspy; nkhj;j cs; ehl;L cw;gj;jp. 

M. re;ij tpiyfspy; nkhj;jj; Njrpa tUkhdk;. 

,. nrytplj;jf;f nkhj;jj; Njrpa tUkhdk;. 

<. nkhj;j Njrpa Nrkpg;G.                             (08 Gs;spfs;) 

06) 
(i) rkepiyj; Njrpa tUkhdj;jpd; gz;Gfis nghUj;jkhd tiuglq;fs; %yk; 

ntspg;gLj;Jf? 
(04 Gs;spfs;) 

(ii) gztPf;f ,ilntspiaAk;> RUf;f ,ilntspiaAk; nghUj;jkhd 
tiuglj;jpd; %yk; tpsf;Ff? 

(04 Gs;spfs;) 
(iii) KjyPl;Lg; ngUf;fp vd;gjd; fUj;ij RUf;fkhf tpsf;Ff?    (04 Gs;spfs;) 

  (iv) nghUshjhuk; xd;wpd; Ngupdg; nghUspay; juTfs; rpy gpd;tUkhW  
     jug;gLfpd;wd.  

(rfy ,yf;fq;fSk; gpy;ypad; &ghtpy;) 
jd;dpr;irahd Efu;T  = 50 

jpl;lkpl;l KjyPL  = 150 
murhq;ff; nfhs;tdTfs; = 100 
Njwpa Vw;Wkjpfs;  = -75 
vy;iy Efu;T ehl;lk;  = 0.75 

,g;nghUshjhuj;jpd; rkepiyj; Njrpa tUkhd kl;lj;ij epu;zapf;Ff. 
(04 Gs;spfs;) 

 



(v) fUJNfhs; nghUshjhunkhd;wpd; Ngupdg; nghUspay; juTfs; tUkhW? 
nkhj;j Njrpa tUkhdk;   (Y)  = 8000 gpy;ypad; &gh 
nrytplj;jf;f Njrpa tUkhdk;  (Yd) = 7400 gpy;ypad; &gh 
jdpahu; Efu;T    (C) = 7100 gpy;ypad; &gh  
mur ghjPl;Lg; gw;whf;Fiw   (BD)  = 200 gpy;ypad; &gh 
mur elg;G khw;wy;fs;   (TR)  = 50 gpy;ypad; &gh 
tu;j;jf kPjp     (TB)  = -300 gpy;ypad; &gh  
,g; nghUshjhuj;jpd;  
m) murpd; tup tUkhdk; (T) 
M) jdpahu; KjyPL (I)  

vt;tsthff; fhzg;gLk;? 
 (04 Gs;spfs;) 

 


